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for {

select {

case value := <-socketMapChans.chGet:
l14g.Debug ("channelsvr.Start () :chGet:", wvalue.Key)
value.ReplyChannel <- data[value.Key]

case value := <-socketMapChans.chRegister:
l14g.Debug ("channelsvr.Start () :chRegister:", wvalue.clientld)
data[value.clientld] = wvalue.controller

case value := <-socketMapChans.chDelete:
l4g.Debug ("channelsvr.Start () :chDelete:", wvalue)
delete (data, wvalue)

case value := <-socketMapChans.chBroadcast:
l4g.Debug ("channelsvr.Start () :chBroadcast:", wvalue)
for , v := range data {

v.Send ("100000000", walue)

}

case reply := <-socketMapChans.chGetCount:
l4g.Debug ("channelsvr.Start () :chGetCount")
reply <- len(data)

}
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func StartTcpSvr() { ‘ITiIE"‘

onceTcpSvr.Do (func () {

port := ":" + configsvr.Fetch("tcpsvr port")
if ":" == strings.TrimSpace (port) {
port = ":5988" //default 99588
}
l4g.Debug("tcpsvr listen on port:%s", port)
1, err := net.Listen("tcp", port)
if err !'= nil {
l4g.Error ("Failure to listen: %s", err.Error())
return
}
l4g.Debug("tcpsvr::listening...... ™)
for {
l4g.Debug ("Started!™)
if ¢, err := 1l.Accept(); err == nil {
l4g.Debug ("Accept () ::", <)

go StartChild(c) //new thread

é X
}
l4g.Debug ("Everything is done!")

)



func StartChild(c net.Conn) {
l4g.Debug ("tcpsvr::StartChild() ::Started!™)

var clientRData *proto.TDatagram = nil
defer func() {

if nil != clientRData {
Logout (clientRData.GetClientId())
} else {

l4g.Debug("clientRData is nil!")
}

c.Close ()
l4g.Debug("tcpsvr::StartChild () : :Ended!"™)
()
controller := &tTPCChans/{

chSend: make (chan *TChanSend),
chQuit: make (chan bool),

}

go func() { // Read

//14g.Debug ("tcpsvr::StartChild() : :Read () : :begin! () ")

reader := bufio.NewReaderSize(c, 256)

controller.Quit ()
()
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// Write
//1l4g.Debug ("tcpsvr::StartChild() ::Write() ::begin! () ")
writer := bufio.NewWriterSize(c, 256)
WriteLoop:
for {
select {
case value := <-controller.chSend:
msgD := proto.MakeMsgDatagram(string(clientRData.ClientID[:20]),
value.MsgId, wvalue.MsgBody)
if "" != msgD {
//14g.Debug ("Write:msg:", msgD)
_, err := writer.Write([]lbyte (msgD))
if err !'= nil {

l4g.Error ("Failure to write:", err)
break WriteLoop
}
writer.Flush()
//1l4g.Debug ("Write:", wvalue)
}
case <-controller.chQuit:
//14g.Debug ("StartChild() : :received a quit message!")
break WriteLoop

}

}
//1l4g.Debug ("tcpsvr::StartChild () : :Write () ::end! () ")
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